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7,182

3,440

S

¥

3,000
3,000

1,800
1,800
1,800
7,140
7,140
7,140
7,140

- EaS

- SRA(3) - HIRAY

S - B

pJE-==

RSN

JHl

s
2
&0

ulo
no

I+

i

o
3

al

i

R0

I

&0
0H
T

il

01 AtR2telb]

30
0B
A0
M0

30
0p
M0
M0

80
0H
x

202 044l

01 =LA LI

KJ
KF
oF
ol

40,0003 *11H

0K

250,000& =128

R0
=
10

oF

KM

by

A
50

ok
ol
Rl
Rr

(OPNES)

150,000& x 12+ 123

30
U]

<

01 AtR2telbl

uo

JlI=23l
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A sSALEEX
ZE: JIEYY 9 BAS AR (STHS LM/ 5Y - 5E)
el JIEdgYE gy EER=E)
SA - B GR(31) - HIRAY - BES ol by e HlmS2
SEAMEEFE X & 1,880,500 1,833,567 46,933
= 33,960
| 12,000
& 1,834,540
s 9 H4tg JAHER) (sEugsd/=2 - =&) 258,220 253,608 4,612
IIEFAY ol 69,800 75,848 16,048
SHIIEMEY 2 64,200 69,528 25,328
201 L2 | 17,000 18,000 21,000
02 3324l 17,000 18,000 A1,000
OXNEHIIZ2 Xl 17,000
202 04dl 21,000 23,328 A2,328
01 =LHO4 b 21,000 23,328 A2,328
oYgddR =& 21,000
204 MR AY| 10,200 10,200
02 E3g=3Hl 10,200 10,200
(©]uIRlE="==] 50,0003 17+ 12& 10,200
206 M= 4l 16,000 18,000 22,000
01 M=l 16,000 18,000 A2,000
OA&IIEHEA & 16,000
IISEgAH - g 5,600 5,600 0
206 =4l 5,600 5,600
01 =l 5,600 5,600
(O] ==F 1= F I a= NI = 5,600
FYHO FME S 71,280 75,760 4,480
SN2 oMY HA 63,280 67,400 24120
201 LBt2| 11,700 13,000 21,300
01 ArR22lt| 11,700 13,000 21,300
OIEHN === 11,700
202 o4t 40,380 43,200 A2,820
01 =WHO4b| 40,380 43,200 A2,820
ORIMHOl FoE B 40,380
206 =4l 11,200 11,200
01 =l 11,200 11,200
OF4t=E otdd At 11,200
ARTA SE3t 8,000 8,000 0
206 =4I 8,000 8,000
01 M=l 8,000 8,000
OFRIA HE 8,000
A g2t 117,140 102,000 15,140
A2 2t 67,140 60,000 7,140
201 L2 | 67,140 60,000 7,140
01 AtR2telt] 4,140 0 4,140
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SN SSAMYRTIL
Za: JIEYY © BAS AMER)(STHSLM/5Y - 5E)
el EAzgae (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OFAL & 2SI 22l S 4,140
2 s5=34l 63,000 60,000 3,000
OFAL & 2SI &2l S 63,000
N ZHAF X 50,000 42,000 8,000
201 et 3| 50,000 42,000 8,000
01 AtR2telHI 43,000 36,000 7,000
OXgE=a N X 43,000
2 35284l 7,000 6,000 1,000
OXE=A 24| X 7,000
HH2LZH(SSAMGRXIA)(OIEHIIE 1,622,280 1,579,959 42,321
= 33,960
Jl 12,000
< 1,576,320
=] 1,577,673 1,635,854 41,819
= 33,960
7l 12,000
=S 1,531,713
S2E 22| XI& 1,275,922 1,261,554 14,368
101 @124H| 1,275,922 1,261,554 14,368
01 2= 1,275,922 1,261,554 14,368
oJlz= 937,877
Ol=r= 872,545
-ASH 92,040
o= 7,670,000« 1&*12& 92,040
-2ghy 694,421
6= 4,341, 7008« 128+ 123 625,205
=) 2,884,000 2H 122 69,216
- A 86,084
AA 2,391,200 «38 122 86,084
odg2=+¢ 783,979,2008*1/12 65,332
o= 158,826
onezRALY
10,843,000& 4. 1%~ 123 5,335
(OFSImstS D= 12,120
25801 & 130,000 x 12 * 12 1,560
-20~25=2 0|2t 10,0002 =3+ 122 3,960
-5~10&018* 50,0002 x8 122 4,800
-54018t 30,000 x5& * 122 1,800
OJE+E 16,320
-BH Xt 40,0002 ~0~ 122 4,320
N E 10,320
- XM 30,0003 6 * 122 2,160
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SN SSAMUDTL
. WY S2IHU(SSAMYEXIA)(OIEHIIE
S RRIEESS(T (SHol: &2)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
=M 70,0003 x5« 12& 4,200
AUTH 110,000 x3Z » 123 3,960
-J|EFS 20,0003 x7F 123 1,680
ORgz2=g 9,600
=3 50,0003 16+ 12& 9,600
OS+ead 56,280
Qg2 350,000 x8H *12& 33,600
“HArHEFE)
370,000 x5F 123 22,200
J=38sY 240
8= 0Idt 20,0003 =1« 12& 240
D282 803 240
2&2% 8= 0lct
20,0003 x1E 123 240
OAlIZt2222Y
11,6023 #25A|1 20175+ 12& 59,171
(OFSELF=Eala] 140,000 x 18« 122 30,240
OZEZOt| 65,331,600 x60%*23| 78,398
O™ I E 4| 30,081
OHEH 202,9703 x 18+ 13 2,639
Oz SH 124, 1702 x 17513 27,442
OXZE x| 40,500
O53 250,000 x 18+ 123 3,000
O6= 185,000 12+ 12& 26,640
O8= 175,000 2+ 12& 4,200
OAFAE 185,000 x3H » 123 6,660
JIEEY olgt eyl Xf(=2) 201,167 185,385 15,782
= 33,960
& 167,207
101 @124t 179,613 165,228 14,385
= 33,960
& 145,653
03 SR (RIHL) 22X B 179,613 165,228 14,385
OAIHARRA(LHETH) 179,613
(OpIE== 120,298
= 33,960
= 86,333
(OFS Tt = 10,025
Oz 2,400
Ogaldl 6,720
On &l 4,800
OJEs=e 3,840
- <kt 1,920
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Ofl &k2h
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Ofl &F2H
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SRUSEN A
S 2 SN2 HAHER) (sHNLS /=L - =F)
SR wol (crel: &g)
SA - B GR(31) - HIRAY - BES ol by e HlmS2
EsPNEN 1,115,870 1,054,618 61,252
= 33,960
= 1,081,910
o L =AE BAHEE) s - SE) 227,553 221,159 6,3%
= 13,584
& 213,969
dgdE 2o 119,563 117,139 2,424
= 13,584
= 105,979
oy JIEMgY 2y 35,800 35,488 312
201 2| 5,400 5,400 0
02 E324Hl 5,400 5,400 0
OXEHIIZ Ml 5,400
202 o4t 13,000 14,688 A 1,688
01 =LHO4 b 13,000 14,688 A 1,688
Oy IHEHIYH YA 13,000
204 MNP~ AH| 5,400 5,400
02 E3g=2ZHI 5,400 5,400
oueIas| 50,0003 9« 12& 5,400
206 M= 4l 12,000 10,000 2,000
01 M=l 12,000 10,000 2,000
o4y JIEdgE YA 12,000
IIEEgAH - g 6,000 5,400 600
206 M= 4l 6,000 5,400 600
01 =l 6,000 5,400 600
(OPJE==F 1= RFIe = NI 6,000
IEEY oYy 2 23 %E 2 S XA (=12) 77,763 76,251 1,512
= 13,584
& 64,179
101 @124t 77,763 76,251 1,512
= 13,584
& 64,179
M IItHZ22SEs 77,763 76,251 1,512
CE SISk 77,763
= 13,584
= 64,179
FIMAEQ ZHE B 9,450 11,140 A1,690
a2 oMY HA 9,450 11,140 21,690
202 04d| 4,500 5,640 21,140
01 =LHO4 L] 4,500 5,640 21,140
OLx & M= HAM 4,500
206 =4l 4,950 5,500 AB50
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SN SBAMSDIIA
. HYS2HHU(SSAMSEXIA)(OIEHIIE
SE R IEE CERE)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
-5~10& 0|8t 50,0003 * 1« 12& 600
b4 0|et 30,0003 x 1« 12& 360
OJE=Y 16,320
i N 40,0003 108+ 12& 4,800
PE 9,120
- XM 30,0002 =108+ 12& 3,600
- EM 70,0003 x5« 123 4,200
AUTH 110,000 1B+ 122 1,320
=J|EHE 20,0003 108+ 12& 2,400
ORgz2=g 5,400
=3 50,0002 =9« 12& 5,400
OExgR=¢ 30,600
J=38sY 360
6~72 30,0003 *1H 123 360
JE=38sY Jltg 120
282 672 10,0003 x 14+ 123 120
==
350,000 x4F«12& 16,800
&g 370,000 x3H+12& 13,320
OAIt2I224Y
11,6023 *25A| 29 + 123 31,326
O UTAL] 140,000 %1024+ 128 16,800
OYEF It 43,500, 0003 *60%+23] 52,200
OHIE 4| 15,638
OHESH 233,333 *78%+80%+ 13 2,035
Oz =H 1,216,666 *86%+ 13! 13,603
OXZEXH| 22,860
Ob3 250,000 x 18 = 12& 3,000
O6= 185,000 x6H » 123 13,320
0892 175,000 x1H 123 2,100
OHFA=Z 185,000 x2%H » 123 4,440
JIEEY oflg olAdl X(=21) A, 717 89,367 5,350
= 20,376
& 74,341
101 214 d| 84,568 80,511 4,057
= 20,376
T 64,192
03 SR (RIHL) 22X B 84,568 80,511 4,057
ORINHAR 22X E 84,568
OJl2= 55,124
= 20,376
= 34,748
(OFS It = 2,757
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SN SSAMSLTL
T IR U SME M) (STHYN/5Y - 5E)
Rl FAF BE 2 EEED
SA - B GR(31) - HIRAY - BES ol by e HlmS2
01 ArR2elt| 4,980 0 4,980
OFEA & 2SXE 22l S 4,980
02 3324l 43,000 43,000 0
OFEA & 2SN 2H S 43,000
&2 ZAL KR 20,880 20,880 0
201 2| 20,880 20,880
01 At 22|l 18,000 18,000
OXNA=L M X 18,000
02 2324l 2,880 2,880 0
oA=L 22| 2,880
MY 2HEH (SSAMSEXIA) (OIEHIIE 879,354 833,583 45,771
= 33,960
& 845,394
olE=2H| 849,563 803,699 45,864
= 33,960
& 815,603
S2& olAH XA 666,196 627,211 38,985
101 eI t| 666,196 627,211 38,985
01 2=+ 666, 196 627,211 38,985
oJl2s 489,362
o= 458,674
peab==Ds| 90,421
58 7,535,080 x1F + 122 90,421
-2 Bt 330,618
6= 4,288, 10022122 102,915
g 3,892,500 4 12& 186,840
- 832 3,405,200 x 1B+ 122 40,863
ERAES 37,635
AL 3,136,200 1P+ 122 37,635
OFS == 368,251,200&*1/12 30,6838
o< 90,860
OURERA=+E
12,468, 7002 *4, 1%+ 128 6,135
O&EZ==EHt= 8,040
250 & 130,000 x2ZH » 12 3,120
—20~253 01 et 110,000 x1H» 123 1,320
-15~20= 0] ¢t 80,0003« 1« 12& 960
-10~15= 0/ ¢t 60,0003 =2« 128 1,440
-5~10= 0] 8¢ 50,000 =2« 12& 1,200
o= 13,320
i BN 40,0002 9 12& 4,320
PE 6,120
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SN S2AMZLTL
. HYS2IHU(SSAMSEXIA)(OIEHIIE
cHol: ol oy| (SHol: &)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
- XM XHA 30,0003 x4« 12& 1,440
PN 70,0003 x4« 12& 3,360
- AT AHA 110,000 x1H 123 1,320
B PIES 20,0003 =128+ 12& 2,880
ORI 5,400
=3 50,0002 =9« 12& 5,400
OExgR=g 30,120
gy 350,000 x6F 12 25,200
BAULL(EEH)
370,000 x 15+ 12& 4,440
JlsdEsY 240
8=0I5t 20,0003 =18« 12& 240
D=3 E903 240
2N A 8z0I5t
20,0002 x1Z+12& 240
OAIZtI224E
11,6023 «8H+25A| 2t 123 27,845
OFAZAH| 140, 00021492+ 122 15,120
OYE IOt 30,687,600 x60%*23] 36,826
OHIHE &H| 13,628
OoEH 7,535,080 *78%+86%+* 1/30% 132 2,191
Oz SH 30,687,600 *86%+*1/30% 13 11,437
OXZEXH| 20,400
Ob3 250,000 x 15+ 123 3,000
O6= 185,000 2+ 12& 4,440
ors 180,000& x4 H 12 8,640
OL=] 175,000 x1H 123 2,100
OHATAL 185,000& x1H + 122 2,220
JIEEY oflg oAl XI&(=1) 183,367 176,488 6,879
= 33,960
T 149,407
101 2124 | 154,759 149,377 5,382
= 33,960
= 120,79
03 SRH(RINHS) 22X 2+ 154,759 149,377 5,382
OAHA R (LA ER) 154,759
OJl2= 107,794
= 33,960
& 73,834
OFSFmtod = 8,983
O 2,400
OzZAaldl & nshl 11,520
(OF) === 3,360
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